Boxing Stand

Keycode: 42702672

Parts List 01

A. Base B. Base Cap C. Base Support Plate D. Base Plug E. Base Plug Cover
x 2 x 2 x 2 x 1 x 1

® —ww = »

I. Middle Pole
(With a detached plastic ring in the pack)

F. Base Plate G. Spring Cover Cap H. Lower Pole
x 1 x 1 x 1

9 ——

J. Height Adjustment Knob K. Upper Pole L. Foam Cover M. Punch Ball
x1 x1 x 1 x 1

n. Bolt M8 x 50mm 0. Bolt M8 x 12mm  p. Bolt M8 x 16mm g. Bolt M6 x 30mm . Nut Mé
x 1 x4 x4 x 2 x 2

Boxing Stand

Keycode: 42702672

Assembly Instructions

Step 1

Turn the 2 x Base (A) over and connect them using 2 x Base
Support Plate (C) and 4 x Bolts M8 x 8mm (o).

Step 2

Attach Base Plate (F) to the Base (A) using 4 x Bolts M8 x 16mm (p).
Place Spring Cover Cap (G) over Lower Pole (H) and twist clockwise
until firmly secured. Slide Lower Pole (H) through the hole at the
top of Base Plate (F) until the coil on the end of Lower Pole (H) sits
on top of the Base Plate (F).




Boxing Stand

Keycode: 42702672

Assembly Instructions 03

Step 3

Turn Base (A) over and then place Base Plug (D) into the hole
of the Base (A), cover Base Plug (D) with Base Plug Cover (E)
and secure them into place using Bolt Mé x 40mm (n).

>

The concave surface is upward

l

m O

=

Step 4 Q

Loosen Height Adjustment Knob (J) on the Middle Pole (I) by twisting
counter-clockwise and slide Upper Pole (K) into the Middle Pole (l). Adjust
the length of the Upper Pole (K) to the desired height and secure it into
place by twisting Height Adjustment Knob (J) clockwise until it is firmly in
place.

~

Black plastic ring----------------- —

T
&

Boxing Stand

Keycode: 42702672

Assembly Instructions

04

Step 5

Slide Foam Cover (L) over Upper Pole (K). Secure the
Punch Ball (M) to the Upper Pole (K) with Bolt Mé (q)

and Nut M6 (e). Adjust the position of the Foam Cover (L)
so it sits just beneath the Punch Ball (M).

Step 6

Place 2 x Base (A) on the ground and remove 2 x Base Cap (B).
Fill the Base (A) with either water or sand and then screw the
Base Caps (B) back onto the Base (A).

Llgk

orr
@

K

L

Finish

Note:

Height is Adjustable.
There is Max Height
Marked on Upper Pole (K).

Step 7

Slide the part of step 5 into the part of
step 6 and screw the Middle Pole () into
the Spring Cover Cap (G), ensure all the
parts are connected firmly.




	Boxing Stand 说明书V9-1.pdf
	Boxing Stand 说明书V9-2

